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ijh{kkfFkZ;ksa ds fy, lkekU; funsZ'k % 
GENERAL INSTRUCTIONS TO THE EXAMINEES: 
1- ijh{kkFkhZ loZizFke vius iz'u i= ij viuk ukekad vfuok;Zr% fy[ksaA  
 Candidates must write his/her Roll Number on the question paper. 
2- lHkh iz'u vfuok;Z gSA 
 All the questions are compulsory. 
3- izR;sd iz'u dk mÙkj nh xbZ mÙkj iqfLrdk esa gh fy[ksA 
 Write the answer of each question in the answer sheet only. 
4- ftu iz'u es vkarfjd [kaM gS] mu lHkh ds mÙkj ,d lkFk gh fy[ksA 
 For question having more than one part, the answers to those parts are to be written 

together in continuity. 
5- iz'u dk mÙkj fy[kus ls iwoZ iz'u dk Øekad vo'; fy[ksaA 
 Write down the serial number of the question before attempting it. 
6- iz'u i= ds fganh o vaxzsth :ikarj esa fdlh izdkj dh =qfV@varj@fojks/kkHkkl gksus 

ij fgUnh Hkk"kk ds iz'u dks gh lgh ekusA 
 If there is any kind of error/ difference/contradiction in the Hindi and English versions 

of the question paper, the question of Hindi version should be treated valid. 
7- iz'u la[;k 1 cgqfodYih iz'u gS] ftlesa 10 Hkkx gSA izR;sd Hkkx ,d vad dk gSA 

lgh fodYi dk p;u dj mÙkj iqfLrdk esa fy[ksaA 
 Question number 1 is an multiple choice question, with 10 parts. Each part is of one 

mark. Choose the correct option and write it in the answer sheet. 
 

iz'u la[;k 
Question No. 

vad izfr iz'u 

Mark Per Question 

1 (i) to (x) 1 

2-11 1 

12-19 2 

20-23 4 

24-25 5 

26-28 6 



 [k.M&v  

Section-A 

1- cgq oSdfYid iz'u %& 

 Multiple Choice Questions :- 

i) ,d lwpuk izfØ;k ds :i esa ys[kkadu dk vfUre pj.k dkSu lk gS&   (1) 

v- ys[kk iqLrdksa esa vkadM+ksa dk ys[kk 

c- foÙkh; fooj.kksa ds :i esa laf{kIrhdj.k 

l- lwpuk dk laizs"k.k 

n- lwpuk dk fo'ys"k.k ,oa mldh O;k[;k djuk 

Which is the last step of accounting as process of information. 

a) Recording of data in the books of accounts. 

b) Preparation of Summaries in the form of financial statment. 

c) Communications of information. 

d) Analysis and interpretation of information.  

ii) ys[kkadu lwpuk dk fu.kZ; esa vko';d cukus okyk izkFkfed xq.k gS &  (1) 

 v- izklafxdrk o iwokZxzg eqfDr 

c- fo'oluh;rk o rqyuh;rk 

l- rqyuh;rk o leuq:irk 

n- dksbZ ugha  
The primary qualities that make accounting information useful for decision 

making are 

a) Relevance and freedom from bias 

b) Reliability and Comparability 

c) Comparability and Consistency 

d) None of above. 

iii) vc jkstukeps esa izfof"V dh tkrh gS &      (1) 

v- igys ifjlaifÙk;ksa dk lwph;u fd;k tkrk gSA 

c- ftl [kkrs dks uke djuk gks mldksa igys fy[kk tkrk gSA 

l- ftl [krks dks tek djuk gks mldksa igys fy[kk tkrk gSA 

n- fdlh Hkh [kkrs dks igys fy[kk tk ldrk gSA 
When a entry is made in journal 

a) Assets are listed first. 

b) Accounts to be debited listed first. 

c) Accounts to be credited listed first. 

d) Accounts may be listed in any order. 

 



iv) jksdM+ cgh esa dkSu ls ysu&nsu ugha fy[ks tkrs &    (1) 

v- udn izd`fr ds    c- m/kkj izd`fr ds 

l- udn o m/kkj izd`fr ds   n- dksbZ Hkh ugh 
Cash book does not record transaction of  

a) Cash nature     b) Credit Nature 

c) Cash and Credit nature   d) None of these  

v) ryiV ,d &         (1) 
v- [kkrk gS     c- fooj.k gS 
l- lgk;d cgh gS    n- ewy iqLrd gS 
Trail Balance is 
a) An Account     b) A statement 
c) A Subsidiary Book    d) A Principal Book 

vi) LFkk;h lEifRr ds ewY; esa deh vkus dk dkj.k gS &    (1) 
v- lEifRr dk fujUrj mi;ksx    
c- lEifRr dh iwoZ fu/kkZfjr vof/k lekIr gksuk 
l- vizpyu 
n- mi;qZDr lHkh 
The reasons for the decrease in the value of permanent property. 
a) Continued use of property    
b) Expiration of the predetermined period of the Assets 
c) Obsolescence 
d) All of the Above  

vii) izpkyu ykHk dh x.kuk djrs le; fuEufyf[kr es fdls [kkrs esa ugh fy;k tkuk 
gS (1) 
v- lk/kkj.k ysu&nsu    c- vlk/kkj.k en 
l- iw.kZ foRrh; izd`fr okys O;;   n- v o c 
While calculating operating profit. the following are not taken into account 
a) Normal transactions    b) Abnormal items 
c) Expenses of a purely financial nature  d) B and C 

viii) ;fn nks eghusa dk fdjk;k vHkh rd cdk;k gS rks lek;kstu izfof"V gksxhA (1) 
v- cdk;k fdjk;k [kkrk uke rFkk fdjk;k [kkrk tek 
c- ykHk o gkfu [kkrk uke rFkk fdjk;k [kkrk tek 
l- fdjk;k [kkrk uke o ykHk o gkfu [kkrk tek 
n- fdjk;k [kkrk uke rFkk cdk;k fdjk;k [kkrk tek 
If the rent of two month is still to be paid the adjustment entry will be  
a) Debit outstanding rent account and credit rent account. 
b) Debit profit and loss account and credit rent account. 
c) Debit rent account and credit profit and loss account. 
d) Debit rent account and credit outstanding rent account. 

 



ix) lead gS &         (1) 
 v- lwpuk    c- rF;ksa dk ladyu 

l- v rFkk c nksuksa  n- mi;qZDr esa ls dksbZ ugh 
Data is  
a) In Formation   b) Compilation of facts 
c) A and B Both   d) Neither of the above 

x) dEI;wVj dk vFkZ gS &        (1) 
v- x.kuk    c- Hk.Mkj.k 
l- mi;qZDr nksuks   n- mi;qZDr esa ls dksbZ ugh 
What is the mean of Computer ? 
a) Calculation   b) Storage 
c) Both of the above  d) Neither of above 

2- lwpuk ds ckâk mi;ksxdrkZ dkSu gS \       (1) 
Who are the external users of informations. 

3- lS)kfUrd v'kqf) dk mnkgj.k nhft,A       (1) 
Give examples of errors of principle. 

4- [kkrksa dks larqfyr djus dk vFkZ gSA       (1) 
What is the meaning to balance of accounts. 

5- vof'k"V ewY; ls D;k vk'k; gSA        (1) 
What do you understand by scrap value ? 

6- foRrh; fooj.k esa dkSu&dkSu ls [kkrs lfEefyr gksrs gS \    (1) 
Which Account are included in the Financial Statement ?  

7- vfxze izkIr vk; ls vki D;k le>rs gS \      (1) 
What do you understand by advance Income ? 

8- Hkk"kk lalk/kd fdls dgrs gS \        (1) 
What is language Processor ? 

9- ifjlaifRr;ksa  ¾ ns;rk,s $ ----------------       (1) 
Assets = Liabilities +  

10- dk;kZy; ds fy, 18000 #- dh LVs'kujh [kjhnh--------------[kkrk tek fd;k tk,xkA (1) 
Purchases office stationary for Rs. 18000. The ________account to be creditors. 

11- fdjk;k] nj vkSj dj --------------ds mnkgj.k gSA      (1) 
Rent, Rates and Taxes are examples of __________ 

SECTION-B 
[k.M&c 

12- nsunkj ,oa ysunkjksa esa varHksZn dhft,A       (2) 
Distinguish between debtors and creditors. 

13- vkxe O;; feyku ladYiuk ls vki D;k le>rs gS \     (2) 
What is Matching Concept ? 

14- fefJr izfof"V fdls dgrs gS \        (2) 
What is combined entry ? 

 



15- mparh [kkrk D;k gS \         (2) 
What is suspense account ? 

16- ,d eghusa dk osru vHkh rd cdk;k gS rks lek;kstu izfof"V gksxhA   (2) 
If one month salary are outstanding then what will be the adjustment entry. 

vFkok OR 

 ,d eghus dh etnwjh vfxze izkfIr gS rks lek;kstu izfof"V gksxhA    
If one month wages are received in advance then what will be the adjustment entry. 

17- lek;kstu izfof"V D;k gS \          (2) 
What is adjustment entry ? 

vFkok OR 

 mikftZr vk; ls vki D;k le>rs gS\ 
What do you understand by earned income ? 

18- Øekns'kd fdls dgrs gS \        (2) 
What is programmer? 

vFkok OR 

 vuqiz;ksx izfØ;k lkexzh fdls dgrs gS\ 
What is an application software? 

19- dEI;wVj ls D;k vk'k; gS \        (2) 
What do you mean by computer. 

SECTION-C 
[k.M&l 

20- 31 ekpZ 2020 dks lekIr gksus okys o"kZ ds fy;s fuEufyf[kr rF;ksa ds vk/kkj ij 
O;kikfjd [kkrk rS;kj dhft,A        (4) 
izkjafHkd LVkWd  #-  37]500 
Ø;    #-  1]05]000 
foØ;   #- 2]70]000 
etnwjh   #- 30]000 
Prepare a trading account from the following particulars for the year ended 31-03-2020 
Opening Stock  Rs. 37,500 
Purchases   Rs. 1,05,000 
Sales   Rs. 2,70,000 
Wages   Rs. 30,000 

21- ryiV dks rS;kj djus dh fof/k;k¡ crkb,A      (4) 
What are the methods of preparing Trial Balance? 

vFkok OR 

 ryiV dh lhekvksa dk mYys[k dhft,A        
State the limitations of Trail Balance. 

22- foÙkh; fooj.kksa dks rS;kj djus ds fy;s D;k mís'; gksrs gS \    (4) 
What are the objectives of preparing financial statement ? 

 



vFkok OR 

 Jheku~~ vjksM+k o lpnsok us 2016&17 esa izpkyu ykHk 17]00]000 #- vftZr fd;k Fkk 
bldh vizpkyu vk; 1]50]000@& #i;s rFkk vizpkyu O;; 3]75]000@& #i;s FkhA 
dEiuh }kjk izkIr fuoy ykHk dh x.kuk dhft,A 
Operating profit earned by M/s Arora & Sachdeva in 2016-17 was Rs. 17,00,000 its non 
operating incomes were Rs. 1,50,000 and non operating expenses were Rs. 3,75, 000/-. 
Calculate the amount of Net Profit earned by the firm. 

23- vfUre [kkrs cukrs le; lek;kstu izfof"V dks vfHkys[ku djuk D;ks vko';d gS \ (4) 
Why in it necessary to record the adjusting entries in the preparation of Final Account. 

vFkok OR 

 fuEufyf[kr lek;kstuksa ds fy;s jkstukepk izfof"V fy[ksA 
v- cdk;k osru 3500 #- 
c- 600 #- izfro"kZ dh nj ls ,d frekgh dk iwoZnÙk chek 
Give the Journal entries for the following adjustment. 
a)  Outstanding Salary 3500/- 
b) Rent unpaid for one month at Rs. 6000/- per annum. 

SECTION-D 
[k.M&n 

24- csps x, lkeku dh ykxr dh vo/kkj.kkvksa dh O;k[;k dhft,A    (5) 
Explain the concept of cost of Goods sold.  

vFkok OR 

 rqyu i= D;k gS\ blds xq.k D;k gksrs gS \ 
What is balance sheet ? What are its characteristics ? 

25- lwpuk o fu.kZ; ds chp laca/k dk o.kZu dhft,A     (5) 
State the relationship between information and decision. 

vFkok OR 

 ys[kkadu izfrosnu ds fofHkUu y{k.kksa dk o.kZu dhft, 
State the various essential features of an accounting report. 

SECTION-E 
[k.M&; 

26- vfUre [kkrs cukrs le; lek;kstu izfof"V dks vfHkys[ku djuk D;ksa vko';d gS \ (6) 
Why is it necessary to record the adjusting entries in the preparation of final accounts ? 

vFkok OR 

 vfUre LVkWd ls D;k vk'k; gS\ vfUre [kkrksa esa bl dk O;ogkj n'kkZb, \ 
What is meant by closing stock ? Show its treatment in Final Account. 

vFkok OR 

 fuEufyf[kr lek;kstuksa ds fy;s jkstukepk izfof"V fy[ksaA 
v- vfxze izkIr deh'ku 1000@& #i;s 
c- vizkI; fdjk;k 2000@& #i;s 
l- cdk;k osru 1000@& #i;s 



n- iwoZnÙk chek  800@& #i;s 
;- vfUre LVkWd 32]000@& #i;s 
j- Hkou ij âkl 6600@& #i;s 
Give the journal entries for the following adjustment. 
a) Commission received in advance Rs.1000/- 
b) Rent receivable Rs. 2000/- 
c) Salary outstanding Rs.1000/- 
d) Insurance prepaid Rs. 800/- 
e) Closing stock Rs. 32000/- 
f) Depreciation on Building Rs. 6600/- 

27- 01 tqykbZ 2011 dks vf'ouh us 2]00]000@& #i;s esa ,d m/kkj e'khu [kjhnh ftl ij 
2500@& #i;s dk O;; pSd ls Hkqxrku fd;s e'khu dk laHkkfor thou 5 o"kZ rFkk ikap 
o"kZ i'pkr~ vof'k"V ewY; 20]000@& #i;s vkadk x;kA lh/kh js[kk i)fr yxkuk gSA o"kZ 
2011 esa izFke rhu o"kZ dk e'khujh [kkrk cukb,A     (6) 
On July 2011 Ashwani purchased a machine for Rs. 2,00,000 on credit installation 
expenses Rs. 25000/- are paid by Cheque. The estimated life is 5 years and its scrap 
value after 5 years will be Rs. 20000. Depreciation is to be charged on straight line basis 
show machinery account for first three years. 

vFkok OR 

 âkl dh jkf'k dks izHkkfor djus okys rRoksa dks le>kb,A 
Explain basic factors affecting the amount of Depreciation. 

vFkok OR 

 âkl dh x.kuk djus ds fy, lh/kh js[kk fof/k ,oa Øekxr fof/k esa vUrHksZn dhft,A 
Distinguish between straight line method and written down value method of Calculating 
Depreciation. 

28- gjizhr cznlZ dh iqLrdksa esa jkstukeps dh izfof"V;ka dhft,A    (6) 
i) 1000 #- ftudk Hkqxrku jksfgr dks djuk Fkk] vc Mwcr _.k gSA 
ii) 2000 #- ewY; ds eky dk mi;ksx Lokeh us vius fy, fd;kA 
iii) 3000 #- dh e'khu ij 10 izfr'kr dh nj ls nks ekg ds fy, ewY; âkl dh x.kuk 

dj izfof"V dhft,A 
iv) 15000 #- dh iwath ij 6 izfr'kr dh nj ls 9 eghusa ds C;kt dh x.kuk dj izfof"V 

dhft,A 
Journalize the following transactions in the books of Harpreet Bros. 
i)  Rs. 1000/- Due from Rohit are now Bad debts. 
ii)  Good worth Rs. 2000 were used by the Proprietor. 
iii)  Charge depreciation 10% p.a. for two month on machine costing Rs. 30,000/- 
iv)  Provide Interest on Capital of Rs. 1,50,000/- at 6% p.a. for 9 months.  

vFkok OR  
ys[kkadu dh dqN iz.kkfy;ksa dks f}vadu ys[kk iz.kkyh D;k dgrs gS\ 
Why are some accounting systems called double Accounting Systems. 

 



vFkok OR 

vki D;k izfof"V djsxsaA 
¼i½  vkxe òf)    ¼ii½ O;; esa deh  
¼iii½ vkgj.k ds vfHkys[ku  ¼iv½ O;olk; esa Lokeh }kjk ubZ iwath ds fuos'k ij  
What entry would you make to  
i) Increase Revenue  ii) Decrease in expense 
iii) Record Drawing  iv) Record the fresh Capital Introduced by the Owner.  
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GENERAL INSTRUCTIONS TO THE EXAMINEES: 
1- ijh{kkFkhZ loZizFke vius iz'u i= ij viuk ukekad vfuok;Zr% fy[ksaA  
 Candidates must write his/her Roll Number on the question paper. 
2- lHkh iz'u vfuok;Z gSA 
 All the questions are compulsory. 
3- izR;sd iz'u dk mÙkj nh xbZ mÙkj iqfLrdk esa gh fy[ksA 
 Write the answer of each question in the answer sheet only. 
4- ftu iz'u es vkarfjd [kaM gS] mu lHkh ds mÙkj ,d lkFk gh fy[ksA 
 For question having more than one part, the answers to those parts are to be written 

together in continuity. 
5- iz'u dk mÙkj fy[kus ls iwoZ iz'u dk Øekad vo'; fy[ksaA 
 Write down the serial number of the question before attempting it. 
6- iz'u i= ds fganh o vaxzsth :ikarj esa fdlh izdkj dh =qfV@varj@fojks/kkHkkl gksus 

ij fgUnh Hkk"kk ds iz'u dks gh lgh ekusA 
 If there is any kind of error/ difference/contradiction in the Hindi and English versions 

of the question paper, the question of Hindi version should be treated valid. 
7- iz'u la[;k 1 cgqfodYih iz'u gS] ftlesa 10 Hkkx gSA izR;sd Hkkx ,d vad dk gSA 

lgh fodYi dk p;u dj mÙkj iqfLrdk esa fy[ksaA 
 Question number 1 is an multiple choice question, with 10 parts. Each part is of one 

mark. Choose the correct option and write it in the answer sheet. 
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 [k.M&v  

Section-A 

1- cgq oSdfYid iz'u %& 

 Multiple Choice Questions :- 

i) ekius dh lkekU; bdkbZ ,oa izfrosnu dk lk/kkj.k izk:i izksRlkfgr djrk gS& (1) 
 v- rqyuh;rk    c- lqcks/krk cks/kxE;rk 

l- mi;qDrrk    n- fo'oluh;rk 
 Use of Common unit of measurement and Common format of reporting promoter- 

a) Comparability   b) Understandability 
c) Relevance    d) Reliability 

ii) tc nks O;fDr;ksa ls lacaf/kr lwpukvksa dks leku izdkj ls rS;kj fd;k tkrk gS rks og 
lwpuk,a iznf'kZr djrh gS&        (1) 

 v- tk¡p ;ksX;rk   c- mi;qDrrk 
l- izklafxdrk    n- dksbZ ugh 
When information about two different enterprises have been prepared presented in a 
similar manner the information exhibits the characteristic of - 
a) Verifiability    b) Relevance 
c) Reliability    d) None of above 

iii) osru dh jkstukepk izfof"V esa lfEefyr gksxs      (1) 
 v- osru [kkrk uke o jksdM+ [kkrk tek 
 c- iawth [kkrk uke o jksdM+ [kkrk tek 
 l- jksdM+ [kkrk uke o osru [kkrk tek 
 n- osru [kkrk uke o ysunkj [kkrk tek 

Journal entry to record salaries will include - 
a) Debit Salaries Credit Cash 
b) Debit Capital Credit Cash 
c) Debit Cash Credit Salary 
d) Debit Salary Credit Creditors 

iv) jksdM+ esa [kjhns gq, eky dks vfHkfyf[kr fd;k tk,xk&    (1) 
v- Ø; iqLrd   c- foØ; iqLrd 
l- jksdM+ cgh   n- Ø; okfilh iqLrd 
Goods purchased on cash are recorded in the- 
a) Purchases Book  b) Sales Book 
c) Cash Book   d) Purchases Return Book 

v) ryiV dk feyku izHkkfor gksrk gS &       (1) 
v- flQZ ,d i{kh; v'kqf);ksa }kjk 
c- flQZ f} i{kh; v'kqf);ksa }kjk 
l- ^v* vkSj ^c* nksuksa ls 
n- mi;qZDr esa ls dksbZ ugh 
 



Agreement of Trial Balance is affected of - 
a) One sided errors only 
b) Two sided errors only 
c) Both a and b 
c) None of the above 

vi) LFkk;h fd'r i)fr ls Kkr fd;k x;k âkl izfro"kZ &    (1) 
 v- c<+rk gS   c- ?kVrk gS 

l- leku jgrk gS  n- ?kVrk c<+rk jgrk gS 
Permanent Installment Methods amount is known per year - 
a) Increases   b) Decreases 
c) Remains the same  d) Keep on Fluctuating 

vii) foÙkh; fooj.k esa lfEefyr gS&       (1) 
v- ryiV   c- ykHk o gkfu [kkrk 
l- rqyu&i=   n- c o l nksuksa 
The Financial statements Consist of -  
a) Trail Balance  b) Profit and Loss Account 
c) Balance Sheet  d)  B and C Both 

viii) ;fn ,d eghus dk fdjk;k vHkh rd cdk;k gS rks lek;kstu izfof"V gksxh& (1) 
v- cdk;k fdjk;k [kkrk uke rFkk fdjk;k [kkrk tek 
c- ykHk o gkfu [kkrk uke rFkk fdjk;k [kkrk tek 
l- fdjk;k [kkrk uke rFkk ykHk o gkfu [kkrk tek 
n- fdjk;k [kkrk uke rFkk cdk;k fdjk;k [kkrk tek 
If the rent of one month is still to be paid the adjustment entry will be. 
a) Debit outstanding rent account and credit rent account. 
b) Debit profit and loss account and credit rent account. 
c) Debit rent account and credit profit and loss account. 
d) Debit rent account and credit outstanding rent account. 

ix) dEI;wVj dk fnekx gksrk gS &        (1) 
v- lh-ih-;w-   c- eseksjh 
l- gkMZfMLd   n- ¶ykih fMLd 
The brain of a computer is- 
a)  C.P.U.   b) Memory 
c)  Hard Disk   d) Floppy Disk 

x) fuEufyf[kr esa ls dkSulk fuos'k ;qfDr gS&      (1) 
 v- fizUVj   c- ekml 

l- ekWuhVj   n- mi;qZDr esa ls dksbZ ugh 
Which one of the following is an input unit -  
a) Printer   b) Mouse 
c) Monitor   d) None of these 



2- foÙkh; ys[kkadu dk vfUre ifj.kke D;k gksrk gS\     (1) 
What is the end result of financial accounting. 

3- jksdM+ cgh esa cSad [kkrs dk tek 'ks"k D;k iznf'kZr djrk gSA    (1) 
What does credit balance of bank account in cash book show?  

4- ryiV dk vFkZ crkb,A        (1) 
Explain the meaning of Trail Balance. 

5- âkl D;k gS\          (1) 
What is "Depreciation" ? 

6- izpkyu ykHk D;k gS\         (1) 
What is the operating profit ? 

7- ;fn chek izhfe;e dk 1000@& #i;s Hkqxrku fd;k x;k gS rFkk iwoZnÙk chek 300 #- 
gS rks ykHk o gkfu [kkrs es chek izhfe;e dh jkf'k D;k gksxhA   (1) 
If the Insurance Premium paid Rs. 1000 and prepaid Insurance Rs. 300. What will be 
the amount of Insurance premium shown in profit and loss account.  

8- mÙkjnkf;Ro fooj.k dk ,d mnkgj.k nhft,A     (1) 
An example of a liability statement. 

9- vizpkyu ykHk&fuoy ykHk $ -------------- &vizpkyu vk;A    (1) 
Operating Profit = Net Profit + ____________ Non Operating Income. 

10- foÙkh; fooj.kksa esa nh xbZ lwpuk --------------ij vk/kkfjr gksrh gSA    
The information provided in the Financial statement is based on _______  

11- 65000@& #i;s dh lsok,¡ m/kkj ij iznku dh xbZ --------------------- [kkrk uke fd;k 
tk,xkA          (1) 
Provided Services for Rs. 65000/- on Credit. The account to be debited is _____ 

SECTION-B 
[k.M&c 

12- ys[kkadu ds eq[; mís';ksa dh x.kuk dhft,A      (2) 
Calculate the main objectives of accounting. 

13- vk/kkjHkwr ys[kkadu lehdj.k D;k gS \      (2) 
What is the basic accounting equation ? 

14- foi;Z; izfof"V D;k mís'; gS\        (2) 
What is the purpose of Contra Entry ? 

15- lS)kfUrd v'kqf) ds nks mnkgj.k nhft,A      (2) 
Give two examples of errors of principle ? 

vFkok OR 

 ys[k v'kqf) ds nks mnkgj.k nhft,A 
Give two examples of errors of commission. 

16- vfUre LVkWd ls D;k vk'k; gS\       (2) 
What is meant by closing stock ? 

17- vFkZ le>kb,A          (2) 
 d- cdk;k O;;   c- iwoZnÙk O;; 

a) Outstanding Expenses  b) Prepaid Expenses. 



 
vFkok OR 

lek;kstu izfof"V dhft,A 
v- âkl     c- iwath ij C;kt 
Write Adjustment entry  
a) Deprecation    b) Interest on Capital 

18- ysu&nsu izØe iz.kkyh ds nks vaxks ds uke crkb,A     (2) 
Give three example of a transaction processing system. 

19- ys[kkadu lwpuk iz.kkyh D;k gS\       (2) 
What is Accounting information system ? 

vFkok OR 

 ysunsu izØe iz.kkyh ds rhu mnkgj.k nhft,A 
Give three example of a transaction processing system.  

SECTION-C 
[k.M&l 

20- [kqnjk jksdM+ cgh D;k gS\ bls fdl izdkj cuk;k tkrk gSA    (4) 
What is Petty Cash Book ? How is it prepared. 

vFkok OR 

 fof'k"V mís'; iqLrdsa D;k gS\ 
What are special purpose books? 

vFkok OR 

foRrh; fooj.k D;k gksrs gS \ 
What are financial statements ? 

21- nsunkjksa ij cV~Vs ds fy, izko/kku ls D;k vk'k; gS \    (4) 
What is meant by provision for discount on debtors. 

vFkok OR 

 fuEufyf[kr lek;kstuksa ds fy;sa jkstukepk izfof"V fy[ksA 
v- 16000 #- izfro"kZ dh nj ls ,d frekgh dk iwoZnÙk chek 
c- 700 #- dh ykxr dk QuhZpj Ø; fd;k rFkk Ø; iqLrd esa fy[kk x;kA 
Give the Journal entries for the following adjustments. 
a) Insurance Prepaid fr a quarter at Rs. 16000 per annum. 
b) Purchase of Furniture  costing Rs. 7000 entered in the purchases book. 

22- ys[k v'kqf);ksa dks le>kb,A        (4) 
Explain the errors of commission. 

vFkok OR 

 ryiV esa vUrj fdl izdkj dh v'kqf);ksa ds dkj.k gksrk gS \ 
What kinds of errors would cause difference in the Trail Balance. 

23- vkarfjd okilh o ckâk okilh esa vUrj crkb,A     (2) 
Write the difference between return inwards and return outwards.  

vFkok OR 



fuEufyf[kr lwpuk ds vk/kkj ij o"kZ 2020 fnlEcj ekg dh fnLraHkh; jksdM+ cgh 
cukb,A 
Enter the following transation in two column cash.   Rs. 

01 gLrLFk jksdM+ (Cash in Hand)      7750/- 

06 lksuw dks Hkqxrku (Paid to Sonu)     45/- 

08 eky dk Ø; (Purchases Good)     600/- 

15 izdk'k ls udn izkfIr (Received Cash From Parkash)  960/- 

20 udn foØ; (Cash Sales)      500/-   

25 ,l- dqekj dks Hkqxrku (Paid to S. Kumar)   1200/- 

30 fdjk;s dk Hkqxrku (Paid Rent)     600/- 

SECTION-D 

[k.M&n 

24- 31 ekpZ 2020 dks O;kikfjd vkSj ykHk o gkfu rFkk rqyu&i= rS;kj dhft,A (5) 
[kkrs dk uke jkf'k [kkrs dk uke jkf'k 

e'khujh (Machinery) 

fofo/k nsunkj (Sundry Debtors) 

vkgj.k (Drawing) 
Ø; (Purchases) 
etnwjh (Wages) 
fofo/k O;; (Sundry Exp.) 
fdjk;k o dj (Rent & Rate) 
vkarfjd <qykbZ (Carriage inward) 
cSad (Bank) 
izkjafHkd LVkWd (Opening Stock) 

27000 
21600 
2700 

58500 
15000 

600 
1350 
4500 
4500 
6000 

iw¡th (Capital) 

ns; foi= (B/P) 

fofo/k ysunkj (Sundry Creditors) 

foØ; (Sales) 

60000 
2800 
1400 

73500 
 

vFkok OR 

i o ii dks lgh rjg ls tksM+s (Match the Items)  

i) vafre LVkWd dks tek i{k esa n'kkZ;k tkrk gS  v- ryiV 
Closing Stock is credited to     Trail Balance 

ii) [kkrksa dh ifj'kq) dk ijh{k.k gksrk gSA   c- O;kikfjd [kkrk 
Accuracy of Book of account is tested by  Trading Account  

iii) xzkgd }kjk csps x, eky dh okilh   l- ØsfMV uksV 
On Returning the Goods to seller the buyer Sends Credit Note 

iv) foRrh; fLFkfr ds }kjk fu/kkZj.k gksrk gS   n- rqyu i= 
The Financial Position is determined by   Balance Sheet  

v) xzkgd }kjk eky okilh ij foØsrk Hkstrk gS  ;- MsfcV uksV 
On receiving the returned good from   Debit Note 
the buyer the seller sands 

25- dEI;wVj iz.kkyh ds fofHkUu vaxks dk o.kZu dhft,A     (5) 

State the different elements of a Computer System ?    



vFkok OR 

 ekuoh; iz.kkyh ij dEI;wVj iz.kkyh dh fof'k"V mi;ksfxrk dks lwphc) dhft,A 
List the distinctive advantages of a computer system over a manual system. 

SECTION-E 
[k.M&; 

26- ys[kkadu lehdj.k cukb;sA       (6) 
v- dq.kky us 25000 #- udn fuos'k dj O;kikj vkjaHk fd;kA 
c- udn QuhZpj [kjhnA 
l- udn deh'ku dk Hkqxrku fd;kA 
n- 2000@& #i;s ewY; dh oLrq,sa udn csph 
Prepare accounting equation from the following 
a) Kunal started business with Cash 2,50,000/- 
b) He purchased Furniture for Cash Rs. 35000/- 
c) He paid commission Rs. 2000/- 
d) He purchased goods on Credit Rs. 4000/- 
e) He sold goods for cash (Costing Rs. 20000/-) Rs. 26000 

vFkok OR 
 [kkrs dk uewuk cukb;sA 

Give a specimen of an account. 

vFkok OR 
ys[kkadu izfØ;k ds rhu vk/kkjHkwr pj.k dkSuls gS \ 
States the three Fundamental Steps in the accounting process. 

27- âkl dh vko';drk dks la{ksi esa crkb,A     (6) 
State briefly the need for providing depreciation. 

vFkok OR 
01 tqykbZ 2017 dks v'kksd fy- us 1]08]000@& #i;s dh e'khu [kjhnh ,oa 12000@& 
#i;s bldh LFkkiuk ij [kpZ fd;sA Ø; ds le; vuqeku yxk;k x;k fd bldk lfØ; 
okf.kfT;d thou 12 o"kZ gksxk ,oa 12 o"kZ ds i'pkr~ bldk vof'k"V ewY; 12000@& 
#i;s gksxkA 
v'kksd fy- dh ys[kk iqLrdksa esa izFke rhu o"kksZ dk e'khu [kkrk ,oa âkl [kkrk cukb, 
;fn âkl lh/kh js[kk fof/k ls yxk;k tk jgk gSA 
On July 01, 2017 Ashok Ltd, purchased a Machine for Rs. 1,08,000/- and spent Rs. 
12,000/- on its installation. At the time of purchases it was estimated that the effective 
commercial life of the machine will be 12 years and after 12 years its salvage value will 
be Rs. 12000. 
 Prepare machine account and depreciation Account in the books of Ashok Ltd. for 
first three years, If Depreciation is written off according straight line method. The 
account are closed on Dec. 31st every year. 

vFkok OR 

âkl ds D;k dkj.k gS \ 
What are the causes of Deprecation ? 



28- fuEufyf[kr lwpukvksa ls 31 ekpZ 2020 dks Mwcr _.k [kkrk] izko/kku [kkrk] ykHk o gkfu 
[kkrk rFkk rqyu i= cuk;sA        (6) 
nsunkj        80000 
Mwcr _.k        2000 
Mwcr _.k ds fy;s izko/kku     5000 
lek;kstu 
Mwcr _.k 500 #- nsunkjksa ij 3 izfr'kr dh nj ls izko/kku 
Prepare the Bad debts account, provision for account profit and loss account and Balance 
sheet from the following information as on 31.03.2020 
Debtors        80000 
Bad Debts        2000 
Provision for Bad Debts      5000 
Adjustment        
Bad Debts Rs. 500 Provision on Debtors @ 3%    

vFkok OR 

vk; fooj.k rFkk rqyu i= dk yEcor~ izk:i cukb;sA 
Give the Performa if Income statement and balance in vertical from   

vFkok OR 

vFkZ le>kb;s 
v- vfxze izkIr vk; 
c- mikftZr vk; 

State the meaning of - 
a) Income received in advance. 
b) Accrued Income 


